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Number Series Questions for RBI Assistant Exams.    

RBI Assistant Quiz 1 

Direction: What should come in place of the Question mark (?) in the following question? 

1.  26      52      208      1664      26624 ? 

A. 851682   B. 851242   C. 851911 
D. 851823   E. 851968 
 
2.  15      8.5      10      ?      36.5      94.25 

A. 16.5    B. 16    C. 15 
D. 17    E. 20.25 
 
3.  346      321      341      326      336 ? 

A. 341    B. 350    C. 356 
D. 330    E. 331 
 
4.  26      17      33      8      44 ? 

A. 5    B. – 4    C. – 3 
D. – 5    E. None of these 
 
5.  12705      1155      ?      33      11      5.5 

A. 142    B. 165    C. 144 
D. 198    E. None of these 
 
6.  10      101      119      147      165 ? 

A. 201    B. 205    C. 209 
D. 215    E. None of these   
 
7.  350      345      330      305      270 ? 

A. 200    B. 210    C. 215 
D. 225    E. 250 
 
8.  15      21      24      30      33 ? 

A. 90    B. 51    C. 39 
D. 83    E. 54 



 

9.  8      17      43      108      232 ? 

A. 356    B. 444    C. 449 
D. 554    E. None of these   
 
10.  1      3      12      60      360 ? 

A. 2525   B. 1520   C. 2025 
D. 2052   E. None of these 
 
 

 

Correct Answers: 

 

1 2 3 4 5 6 7 8 9 10 

E D E D B A D C C E 
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Explanations: 

1. 

Series Pattern Given Series 

26 26 

26 × 2 52 

52 × 4 208 

208 × 8 1664 

1664 × 16 26624 

26624 × 32      851968 ✓ 

 

Hencce, option E is correct. 

2. 

Series Pattern Given Series 

15 15 

15 × 0.5 + 1 8.5 

8.5 × 1 + 1.5 10 

10 × 1.5 + 2      17 ✓ 

17 × 2 + 2.5 36.5 

36.5 × 2.5 + 3 94.25 

 
Hence, option D is correct 

3. 

Series Pattern Given Series 

346 346 

346 – 25 321 

321 + 20 341 

341 – 15 326 

326 + 10 336 

336 – 5     331✓ 

 
Hence, option E is correct. 

 

 



 

4. 

Series Pattern Given Series 

26 26 

26 – 32 17 

17 + 42  = 33 33 

33 – 52 = 8 8 

8 + 62 = 44 44 

44 – 72 = – 5    – 5 ✓ 

 
Hence, option (D) is correct. 

5. 

Series Pattern Given Series 

12705 12705 

12705 ÷ 11 1155 

1155 ÷ 7     165 ✓ 

165 ÷ 5 33 

33 ÷ 3 11 

11 ÷ 2 5.5 

 
Hence, option (B) is correct. 

6. 

Series Pattern Given Series 

10 10 

(102 + 1) 101 

(112 – 2) 119 

(122 + 3) 147 

(132 – 4) 165 

(142 + 5)      201 ✓ 

 
Hence, option A is correct. 
 

 

https://testzone.smartkeeda.com/Test/Dashboard/RBI-Assistant-Pre/28


 

7. 

Series Pattern Given Series 

350 350 

350 – 5 345 

345 – 15 330 

330 – 25 305 

305 – 35 270 

270 – 45      225 ✓ 

 

Hence, option D is correct. 

8. 

Series Pattern Given Series 

15 15 

15 + (1 + 5) 21 

21 + (2 + 1) 24 

24 + (2 + 4) 30 

30 + (3 + 0) 33 

33 + (3 + 3)      39 ✓ 

 
Hence, option C is correct. 

9. 

Series Pattern Given Series 

8 8 

8 + 23 + 1 17 

17 + 33 – 1 43 

43 + 43 + 1 108 

108 + 53 – 1 232 

232 + 63 + 1     449 ✓ 

 
Hence, option C is correct. 

 

 

 



 

 

10. 

Series Pattern Given Series 

1 1 

1 × 3 3 

3 × 4 12 

12 × 5 60 

60 × 6 360 

360 × 7      2520 ✓ 

 
Hence, option E is correct. 
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